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Questionl:-Which of the following statements about Sahodaran Ayyappan is/are
correct?

i. In 1933, Ayyappan started a newspaper called 'Velakkaran'.

ii. He became a member of Cochin Prajamandal.

iii. He fully supported Hindu Mahamandal Formed by Mannath Padmanabhan and
R. Sankar.

iv. He took initiative to begin "Yuktivadi' journal along with K.Rama Varma
Thampan.

A:-Only (i, ii & iii)

C:-Only (i, i & iv)
D:-Only (iii & iv)
Correct Answer:- Option-C
Question2:-Which of the following is not a book of Vagbhadananda?
A:-Sivayogavilasam
B:-Abhinavakeralam
C:-Atmavidyakahalam
D:-Darsanamala
Correct Answer:- Option-D

Question3:-Match the following statements and years about Poikayil Appachan.
Which of the following option is correct?

Statements Year
a. Appachan joined in Sadhujana Paripalana Sangam of Ayyankali in 1. 1909
b. He started PRDS in 2. 1921
c. He was nominated to Sreemulam Prajasabha in 3. 1907

A:-a-1, b-2, c-3
B:-a-3, b-1, c-2
C:-a-2, b-1, c-3
D:-a-1, b-3, c-2
Correct Answer:- Option-B

Question4:-Which of the following statements about Swadeshabhimani
Ramakrishna Pillai is/are correct?



i. He was the editor of news papers, Kerala Darpanam and Malayali.

ii. Ramakrishna Pillai severely attacked the autocratic policies of the Dewan
P.Rajagopalachari.

iii. He was elected without contest to Sri Mulam popular Assembly in 1910.

A:-only i

B:-only ii

C:-only iii

D:-All three statements are correct
Correct Answer:- Option-D

Question5:-Who wrote the famous pamphlet, 'Travancore for the Travancoreans' in
the context of Malayali memorial?

A:-Dr. Palpu

B:-Barrister G.P. Pillai

C:-Mannathu Padmanabhan
D:-Swadesabhimani Ramakrishna Pillai
Correct Answer:- Option-B

Question6:-Match the following leaders of Indian Freedom movement and their
books. Which is the correct answer?

Leaders Books
a. Aurobindo Ghosh i. Bhagavadgita Rahasya
b. Subas Chandra Bose ii. Glimpses of world History
c. Bal Gangadhar Tilak iii. The Life Divine
d. Jawaharlal Nehru iv. The Indian Struggle

A:-a-i, b-iv, c-iii, d-ii

B:-a-iii, b-iv, c-i, d-ii

C:-a-i, b-ii, c-iii, d-iv

D:-a-iv, b-i, c-iii, d-ii

Correct Answer:- Option-B
Question7:-Consider the following events in Indian Freedom Movement and
Chronologically arrange them. Which is the correct - chronologically arranged
option?
i. The cripps mission
ii. The INA captured Imphal and Kohima

iii. The August offer
iv. The Quit India Movement

A:-i, i, i, iv
B:-i, ii, iv, iii
C:-iii, i, i, iv
D:-iii, i, iv, i

Correct Answer:- Option-D

Question8:-A notable episode which attracted the attention of the whole country in



connection with the Indian Freedom struggle was the arrest and trial of Mrs. L.S.
Prabhu of Tellicherry. This incident is associated with

A:-Quit India Movement
B:-Civil Disobedience movement
C:-Malabar Rebellion
D:-Communist Movement
Correct Answer:- Option-B
Question9:-The Revolutionary Lala Har Dayal is associated with
A:-H.S.R.A
B:-Alipore conspiracy case
C:-Ghadar Party
D:-Lahore conspiracy case
Correct Answer:- Option-C
Question10:-The second President of Indian National Congress is
A:-Badruddin Tyabji
B:-George Yule
C:-Dadabhai Naoroji
D:-Annie Besant
Correct Answer:- Option-C

Question11:-Which is the indigenous beyond visual range air-to-air missile
(BVRAAM) successfully conducted flight test recently by DRDO and IAF?

A:-Agni - V

B:-Brahmos

C:-Nag

D:-Astra

Correct Answer:- Option-D

Question12:-Which National Park in Kerala has emerged as the highest - scoring
individual protected area in the Management Effectiveness Evaluation carried out
by the Union Ministry of Environment, Forest and Climate change for 2020-20257

A:-Silent Valley
B:-Eravikulam
C:-Mathikettan Shola
D:-Anamudi Shola
Correct Answer:- Option-B
Questionl3:-Where is the famous hill station Mount Abu located?
A:-Rajasthan
B:-Himachal Pradesh



C:-Uttarakhand
D:-Meghalaya
Correct Answer:- Option-A
Questionl4:-Who is the present Chairman of ISRO?
A:-K. Sivan
B:-S.Somanath
C:-K.Radhakrishnan
D:-V. Narayanan
Correct Answer:- Option-D

Question15:-Which constitutional Amendment added the term 'Secular' to the
preamble of the Indian constitution?

A:-44th Amendment
B:-42nd Amendment
C:-52nd Amendment
D:-36th Amendment
Correct Answer:- Option-B
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A:-(i-b), (ii-a), (iii-d), (iv-c)
B:-(i-c), (ii-b), (iii-a), (iv-d)
C:-(i-d), (ii-c), (iii-b), (iv-a)
D:-(i-a), (ii-d), (iii-c), (iv-b)
Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-A
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Correct Answer:- Option-A

Questi0n74:-YL§S PESTIRYNY) L)A.lS LN J.OS ©9069-0 S dg.au.&ogs .)*.5.353.))'

A-salacl oz 3l Ll

Bi- 89,8 plaz Il Huasiv
Ci-aoz| (uadl oS

D:-5>15] Gaw> daxe

Correct Answer:- Option-C

Question75:-5 _, LS, &lw 2 ow chio i oS ““ortlie LEHL Sl IS LI

Ai-sol o

B:-:SLs

C:-sp sl

D:-siwl

Correct Answer:- Option-B
Question76:-S_, » ow Ol ouS S nii $lws IS s 046585 B9

A:- ol

B:-wlisLlw

C-ldlo>

D:-wil st

Correct Answer:- Option-D
Question77:-%_, caias S puS Juz olg,l8

A:->151 oMUl ool LY g

B:-Uus>

Ci-ollai s

D:-isouo s>l o

Correct Answer:- Option-A
Question78:-Y_, UsS waibao 5 iS5 Wilssy’

A:i-Giou0 szl s

B:-sobls sz ladl aue

Ci-aiiv oo

D:-glio

Correct Answer:- Option-A
Question79:-Slg lgs s, Lro Jw puS “lzo 25901 sl

A:-1903

B:-1905

C:-1902

D:-1900



Correct Answer:- Option-A
Question80:-SYIS Lzl LusigS » uw y9eY L0 0l e jelb LYgo

A-5 08

B:-,lxiwo

Ci-Lis ool

D:-JS ¢l

Correct Answer:- Option-B
Question81:-S_, <SS, IS Llall , HiS o )9lx0

A=l 2 owgd L 9o

B:-95

C-mlLlz

D:-ow

Correct Answer:- Option-A
Question82:-_, ¢S ,S 0z sJg090 juoio

A:i-s9

B:-g>

C-, S

D:-ss

Correct Answer:- Option-B
Question83:-T_, wliS S cucgi puS ‘Gzl cawls’

A:-oluwls

B:-aclgs

C:-ausai

D:-sgiio

Correct Answer:- Option-C
Question84:-S_, usS Wb S ‘Lol W’ sJlw,

Ai-dw w

Bi-s a2z )l ole

Ci-s93 pNudl e

Di-s93 Olosdw aw

Correct Answer:- Option-B
Question85:-9 _ lwigS & ,uoio ¢l

A:-s9

B:-ss

Ci-Uo

D:-po5



Correct Answer:- Option-A
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